


   •     •     •     •     

   •     •     •   

 



for YOU
      & being NEW



/





/

•



UAB50R

UAB50C

UAB50H

UAB50S, UCB50R

UCB50L

UCB50H

UAB30R

30AF 50AF 60AF 100AF 125AF 160AF 250AF 400AF 630AF

5 kA

(at 415V)

UAB100C

UAB100S

UCB100S

UAB100R, UCB100R

UCB100L

UPB100S

UCB100H

UPB100H

UCB250N

UCB250S

UCB250L

UPB250S

UCB250H UCB400S

UCB400R

UCB400H

UCB400L

UCB630S

UCB630R
(45kA)

UCB630H

UCB630L

800AF

UCB800S

UCB800R
(45kA)

UCB800H

UCB800L

10 kA

18 kA

25 kA

30 kA

36 kA

42 kA

50 kA

85 kA

100 kA

130 kA

150 kA

Icu

UPB100L

UPB100X

UCB160L

UPB160S

UCB160H

UPB160H

UPB160L

UPB160X

UPB250H

UPB250L

UPB250X

(at 415V)

UPB100L

UPB100H

125AF 250AF 400AF 630AF 1000AF 1250AF

UPB250L

UPB250H

UPB400L

UPB400XUPB250X

UPB400SUPB250S

160AF

UPB160L

UPB160H

UPB160X

UPB160S

UPB100X

UPB100S

UPB400H

UPB630L

UPB630X

UPB630S

UPB630H UCB1000S

UCB1000L

UCB1250S

UCB1250L

UCB1600S

1600AF

65 kA

85 kA

100 kA

130 kA

150 kA

Icu

Fixed Thermal

Hydraulic magnetic

Fixed thermal

Adjustable thermal

(at 220V)
30AF 50AF 100AF

UMB30H, UDB30H

UMG30H, UDG30H

UMB30S, UDB30S

UMG30S, UDG30S

UMB30R

UMG30R

UMB50H, UDB50H

UMG50H, UDG50H

UMB50S, UDB50S

UMG50S, UDG50S

UDB100H

UDG100H

UDB100S

UDG100S
5 kA

2.5 kA

10 kA
Icu

Electronic type 

Motor protection - UPB type 125-250AF  

UCB250R

UAB60R

UAB60CUAB30C

Thermal magnetic type

Miniature type

Q-class HBL type - 100-225AF 

Switch disconnector - UAD type 50-100AF, UCD type 50-1250AF, UPD type 125-630AF

•



/

•

•



•

•

• •



//

•

•

•

•

•

•

•

•



+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +



/

○ - -

* ○ ○ -

* ○ ○ -

○ ○ -

○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

* ○ ○ -

- - ○

- - ○

- - ○

- - ○

- - ○

※
 *

※

○ - -

○ - -

○ - -

○ - -

- ○ ○

- ○ ○

○ -

○ - -

○ - -

- ○ ○

- ○ ○



○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

- - ○

- - ○

- - ○

- - ○

- - ○

- - ○

- - ○

- - ○

※
· · ·

※

- -

○ -

- ○

○ ○

- -

○ -

- ○

○ ○

※



/

- -

- -

- -

- -

- -

- -

*

*

- -

- -

- -

- -

- -

- -

- -

- -

- -

- -

*

*

※

 *



+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +



/

※

○ ○   ○

  ○   ○   -
× × -

  -   -   ○ 

  -   - × ×

  -   - ×

  -   - × ×

  ○   ○   ○ 

   ○  ○  ○

   ○  ○  ○

   ○  ○  ○

  -   -   ○ 

  ○   ○   ○

  ○   ○   ○

  ○   ○   ○

  ○   ○   ○

  ○   ○   ○

   ○  ○  ○

   ○  ○  ○

  ○   ○   ○

   ○  ○  ○

  ○   ○   ○

  -   -   ○

   ○   ○   ○   

  ○   ○   ○

  ○   ○   ○

   ○    ○     ○



  ○   ○   ○

 -   - 

  ○   ○   - 
× × -

  -   -   ○

  -   - × ×

  -   - ×

  -   - × ×

  ○   ○   ○ 

  ○   ○   ○ 

   ○    ○    ○

   ○    ○    ○

  -   -   ○ 

  ○   ○   ○

  ○   ○   ○

  ○   ○   ○

  ○   ○   ○

  ○   ○   ○

   ○    ○    ○   

   ○    ○    ○  

  ○   ○   ○

   ○  ○  ○

  ○   ○   ○

  -   -   ○

   ○    ○   ○

  ○   ○   ○

  ○   ○   ○

   ○    ○     ○

※ 
 



/

* *

○  ○   ○   ○

 ○  ○   ○   ○ 

×
×

×
×

  × ×

 - × × ×

 
-

×
×

×

   × ×

 ○  ○   ○   ○

  ○   ○   ○     ○

  ○   ○   ○     ○

  ○   ○   ○     ○

 ○  ○   ○   ○ 

 ○  ○   ○   ○ 

 ○  ○   ○   ○ 

 ○  ○   ○   ○ 

 ○  ○   ○   ○ 

  ○  ○   ○    ○

  ○  ○   ○    ○

 ○ ○ ○   ○

 ○ ○ ○    ○

 ○ ○ ○   ○

  ○ ○   ○     ○

 ○ ○ ○   ○

 ○ ○ ○   ○

  ○  ○   ○     ○

※

*



* * *

○ ○ ○

  ○ ○ ○

× × ×

× × ×

× × ×  

  ○ ○ ○

   ○   ○   ○

   ○   ○   ○

   ○   ○   ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

   ○   ○   ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

   ○   ○   ○

※

*



/

* * *

○ ○ ○

   ○ ○ ○

× × ×

× × ×

× × ×  

   ○ ○ ○

    ○   ○   ○

    ○   ○   ○

   ○ ○ ○

   ○ ○ ○

   ○ ○ ○

   ○ ○ ○

   ○ ○ ○

   ○ ○ ○

   ○ ○ ○ 

   ○ ○ ○

   ○ ○ ○

   ○ ○ ○

   ○ ○ ○  

    ○   ○   ○

    ○   ○   ○

   ○ ○ ○

○ ○ ○

   ○ ○ ○

    ○   ○   ○

※

*



○ ○ ○

    × × ×

× × -

× × ×

× × -

× × -

  ○   ○  -

○ ○ ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ ○

  ○ ○ -

  ○ ○ ○

  ○ ○ ○

  
- - ○

 

  ○ ○ -

  ○ ○ - 

  ○  ○  ○

   ○  ○  ○

  - -  ○

   ○  ○  ○

※



/

※

· · ·

○ ○  ○

       

   ○    ○   ○

   ○    ○   ○

  -  ○  ○

   ○    ○   ○

  ○ ○ ○

  ○   ○  ○

  ○  ○  ○

  ○  ○  ○

  ○   ○  ○

  ○   ○  ○

  ○   ○  ○ 

  ○   ○  ○

  ○   ○  ○

  ○   ○  ○

  ○   ○  ○

  ○   ○  ○

  ○   ○  ○

  ○   ○  ○

  ○   ○  ○

  ○  ○  ○

  ○   ○  ○

  ○   ○  ○

  ○   ○  ○

  ○  ○  ○



※
· ·

○     ○

    ○  ○

    ○  ○

   ○ ○

   ○ ○

    ○  ○

    ○  ○

   ○     ○   

   ○     ○   

   ○     ○   

   ○     ○   

   ○     ○   

   ○     ○   

   ○     ○   

   ○     ○   

   ○     ○   

   ○     ○   

   ○     ○

    ○  ○

    ○  ○

   ○ ○

   ○ ○

   ○ ○

    ○  ○



/

※

○   ○

× ×

  

  ○   ○

  ○   ○

  ○   ○

  ○   ○

  ○   ○   

  ○   ○

  ○   ○

  ○   ○  

  ○   ○

  ○   ○

  ○   ○  

  ○   ○ 

  ○   ○ 

  ○   ○

  ○   ○ 

  ○   ○ 

  ○   ○

  ○   ○

   ○  ○



※
· · · ·

○     ○

  ○ - ○ -

  × - × -

  - × - ×

 ○ -  ○ - ○ -  ○ -  

 - ○  - ○ - ○  - ○

○ ○ 

   ○     ○ 

   ○     ○ 

    ○  ○

    ○  ○

    ○  ○

    ○  ○

   
○ ○

   

   ○     ○ 

   ○     ○ 

   ○     ○ 

   ○     ○ 

   ○     ○

   ○     ○

    ○  ○

    ○  ○



/

 ○ ○ ○

 ○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

- ○ ○

○ ○ ○

 ○ ○ ○

 ○ ○ ○

 ○ ○ ○

 ○ ○ ○

 ○ ○ ○

 ○ ○ ○

 ○ ○ ○

 ○ ○ ○

 ○ ○ ○

 - ○ ○

 ○ ○ ○

 ○ ○ ○

○ ○ ○

※



○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 - - - ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 - ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○ ○

○ ○ ○  ○ ○ ○

※



/

○ ○ ○ ○ ○

- -

 ○ ○ ○ - -

 ○ ○ ○ - -

 ○ ○ ○ - -

 ○ ○ ○ - -

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ - -

 ○ ○ ○ - -

 ○ ○ ○ ○ ○

 ○ ○ ○ - -

 ○ ○ ○ ○ ○

○ ○ ○  ○ ○

 ○ ○ ○ - -

○ ○ ○ ○ ○

○ ○ ○ - -

○ ○ ○ - -

○ ○ ○  ○ ○

※



※

○ ○ ○ ○ ○

- -

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

 ○ ○ ○ - -

- - -  ○  ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

 ○ ○ ○ ○ ○

  ○  ○  ○   ○  ○



/

*

- -

- -

- - - ○ - ○ ○ ○ ○

○ ○ ○ - ○ - - - -

- - ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

- - ○ ○ ○

- - ○ ○ ○

- - ○ ○ ○

- - ○ ○ ○

※
*



*

△

- -

- -

○ ○ ○ ○ ○

- - ○ ○ ○

- - ○ - ○ ○ ○ ○

○ ○- ○ - - - -

- ○ - - ○ ○ ○

○ - ○ ○ ○ ○ ○

○ ○ ○ ○ ○

- - ○ ○ ○

- - ○ ○ ○

- - ○ ○ ○

※
 

*





+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +



/

○

  ○

×

  ○

  ○

  ○

  ○

  ○

•

•

※

* * * * * *

•

※

*

■



-

-

•

표준품 주문코드

•

℃

■

※

※

•

※

-

-

-

•



/

○

○

×

○

○

○

○

○

•

•

※ 

•

※

*

■



-

-

•

표준품 주문코드

•

℃

■

※

-

-

-

•

※

•

※



/

○

○

× ×

×

× ×

○

○

○

○

○

○

•

•

※



-

•

※

■

-

-

•

※

-

-

-

•

※

•

※



/

■

•

℃

℃



•

℃

℃



/

○

○

×

○

○

○

○

○

•

•

※

* * * * * *

•

※

*

■



-

-

•

•

℃

■

※

-

-

-

•

※

•

※



/

○

○

×

○

○

 ○

 ○

○

•

※ 

* * * * * *

•

※

*

■



-

-

•

표준품 주문코드

•

℃

■

※

-

-

-

•

※

•

※



/

○

○

× ×

×

× ×

○

○

○

○

○

○

•

•

※



-

•

※

■

-

-

•

※

-

-

-

•

※

•

※



/

■

•

℃

℃



℃

℃

•



/

○

○

×

○

 ○

 ○

 ○

○

•

※

•

※

■



-

-

•

표준품 주문코드

•

℃

■

※

-

-

-

•

※

•

※

℃

표준품 주문코드



/

*

○

○

× ×

×

× ×

○

○

○

○

○

•

•

※

*



•

※

■

-

-

•

※

-

-

-

•

※

•

※



/

■

•

℃

℃



℃

℃

•



/

○

○

×

×

×

○

○

○

○

○

•

•

※



•

※

■

-

-

•

※

-

-

-

•

※

•

※



/

■

•

℃

℃



℃

℃

•



/

*

○

○

× ×

×

× ×

○

○

○

○

○

•

•

※

*



•

※

■

-

•

※

-

-

-

•

※

•

※



/

■

•

℃

℃



℃

℃

•



/

*

○

○

×

×

×

○

○

○

○

○

○

•

•

※

*

•

※

■



-

•

•

℃

■

※

℃

•

℃

℃

-
-

•

※

•

※



/

*

○

○

×

×

×

○

○

○

○

○

○

•

•

•

※



•

※

■

-

•

※

-

-

•

※

•

※



/

■

•

℃

℃



•

℃

℃



/

*

○

○

×

×

×

○

○

○

○

○

○

•

•

※

*



•

※

■

-

•

※

-

-

•

※

•

※



/

■

•

℃

℃



•

℃

℃



/

*

○

○

×

- - ×

×

○

○

○

○

○

•

•

•

•

※

*



* * * * * *

•

※

*

■

•

※ 

-

-

•

※

•

※
 



/

■

•

℃

℃



•

℃

℃



/

*

○

○

×

- - ×

×

○

○

○

○

○

•

•

•

•

※

*



* * * * * *

•

※

*

■

■

※

•

※

•

※
 

-

-

•

※
 
 
 



/

*

○

○

×

- - ×

×

○

○

○

○

○

•

•

•

•

※

*



* * * * * *

•

※

*

■

■

※

•

※

•

※
 

-

-

•

※
 
 
 



/

■

•

℃

℃

•

℃

℃



■

•

℃

℃

•

℃

℃



/

○

×

×

×

×

×

  ○

  ○

  ○

  ○

•

•

※



•

※

■

•

※

•

※

표준품 주문코드

•

■

표준품 주문코드

•



/

  ○

×

×

×

×

×

○

○

○

○

•

•

※



•

※

■

•

※

•

※

표준품 주문코드

•

■

표준품 주문코드

•



/

○

×

×

  ○

  ○

  ○

•

※



- - -

•

※

■

•

※

■

•

•

※



/

○

○
×

- - ×

×

×

×

×

○
○
○
○
○
○

•

•

•

•

※

* * * * * *

•

※

*

■



-

•

•

■

※

-

-

•

※

•

※



/

■

•

℃



℃



/

■

•

℃



℃



/

○

○
×

- - ×

×

- - ×

×

×

×

×

○
○
○
○
○
○

•

•

•

•

※

* * * * * *

•

※

*

■



-

•

•

■

※

-

-

•

※

•

※



/

■

•

•

℃

℃

℃



•

℃

℃

℃



/

○

○

×

- - ×

×

- - ×

×

×

×

×

○

○

○

○

○

○

•

•

•

•

※



* * * * * *

•

※

*

■

-

•

※

-

-

•

※

•

※



/

■

•



•

℃

■

℃



/

■

•
℃

℃



■

•
℃

℃



/

○

×

×

×

×

×

○

○

○

○

○

○

○

•

•

•

•

※ 

* * * * * *

•

※

*

■



•

•

※

-

-

•

※

•

※

•

■



/

○

×

×

×

×

×

○

○

○

○

○

○

○

※ 

* * * * * *

•

※

*

■

•

•

•

•



•

•

※

-

-

•

※

•

※

•

■



/

○

×

○

○

○

○

○

•

•

※



* * * * * *

•

※

*

■

•

-

•

※

-

-

•

※

•

※

■



/

○

×

○

○

○

○

○

•

•

※



* * * * * *

•

※

*

■

•

■

-

•

※

-

-

•

※

•

※



/

○

○ -

× -
- ×

○ - ○ -

- ○ - ○

○

○

○

•

•

•

•

* * * * * *

•

※

*

※

■



•

※

•

※

•

℃

■

℃

•



/

○

○ -

× -

- ×

○ - ○ -

- ○ - ○

○

○

○

○

○

•

•

•

•

* * * * * *

•

※

*

※

■



•

※

•

※

•

℃

■

•

℃



/

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

- ○ ○

○ ○ ○

•

•

•

•

■

-

-

※

*

-

* * * * * *

-



■

•

※

-

-

 -

•

※

•

※

- -



/

• •

• •

• •

•

-

-

-

-

■

※

-

-

○ ○ ○ ○ ○ ○

○ ○ ○ ○ ○ ○

○ ○ ○ ○ ○ ○

○ ○ ○ ○ ○ ○

○ ○ ○ ○ ○ ○

○ ○ ○ ○ ○ ○

- - - ○ ○ ○



•

※

- -

- -

- -  -

•

※

- -

•

※

■

- -

- -



/

○ ○ ○ ○ ○

- -

○ ○ ○ - -

○ ○ ○ - -

○ ○ ○ - -

○ ○ ○ - -

○ ○ ○ ○ ○

•

•

•

•

•

※

※

*

* * * * * *

-

-

•

■

- -



■

- -

- -

•

※

-

-

-

•

※

•

※

-



/

○ ○ ○ ○ ○

- -

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

※

*

* * * * * *
* * * * * *

•

•

•

•

•

-
-

•

■

-
-



■

•

※

- -

- -

•

※

•

※

- - - -

-

-



/

- - - ○ - ○

○ ○ ○ - ○ -

○ ○

- ○ ○

○ ○

• •

• •

• •

■

℃

※
 



*

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

• •

• •

• •

•

※

※
 

*

■

•

※



/

℃

■



△

• •

• •

• •

• •

• •

※
 

○

-

○

-

○

○

○

-

○

-

○

○

○

-

○

○

-

○

○

-

○

○

○

-

○

○

○

-

○

-

-

○

-

○



/

■

℃

℃



△

  ○ ○ ○

  ○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

○ ○ ○

• •

• •

• •

•

※
 

*

■

•

※



/

■

℃

℃



℃

℃





+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +



/

5.5(3~50A)

9(60~100A)

C3.5 15

7

(Max.)

(M
a

x.
)

17 7.
5

7.
5

24

1
1

5

1
3

0

8
2

5
0

1
6

30.5

6

25

37.5 12.5

50

50

75

25 25 25

100

6

8

50 10

60

82

24

M5 screw (3-50A)
(Standard connection torque : 20-30 kgf.cm)

M8 screw (60-100A)
(Standard connection torque : 100-120 kgf.cm) [Connection conductor] 

[Drilling holes for mounting] [Panel cut-out]

[Terminal part]

2P 3P 4P

2P 2P 2P3P
3P

3P4P

4P

4P

2512.5 25

1
1

0

R5

25 48
12.5

71 96
35.5

Mounting holeMounting hole

Trip
button

Trip
button

Trip
button

Mounting hole

M4×0.7 tapped hole
(Standard connection torque : 15-20 kgf.cm)

for handle exposure
(total breaker height: 64mm)

for handle and trip button exposure
(total breaker height: 60mm)

M4×0.7 mounting screw
(Standard connection torque : 15-20 kgf.cm)

Max. (3-30A)

3-100A

Min. (3-30A)

Max. (40-100A)

Min. (40-100A)

Percentage for rated current (%)

Current

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te

240
180
150
120
100
80
60

40

20

10
8
6

4

2

1

40

20

10
8
6

4

2

1
0.8
0.6

0.4

0.2

0.1
0.08
0.06

0.04

0.02

0.01

0.005
100 130 200 300 400 500 600 1000 1500 2000 3000 4000 6000 8000

Ambient temperature (˚C) 

D
er

at
in

g 
ra

te
 fo

r 
tr

ip
pi

ng
 ti

m
e 

(%
) 300

250

200

150

125

100
90

80
0 10 20 30 40 50

※ •

※ 

• •

• •

• •

•

•

±

±

±

±

±

±

±

±

±

±

±



2

23.5

6.5

4-  6 hole

21(Max.)

[Mounting base]

[Panel cut-out]

[Plug-in connection part]

M4 nut+S/W+P/W
(Standard connection torque : 15-20 kgf.cm)

M6 nut+S/W+P/W
(Standard connection torque : 40-50 kgf.cm)

RH screw

M4×L18+S/W+P/W
(Standard connection 

torque : 15-20 kgf.cm)

41

20
1

3
0

6

80 2

102

1
8

.5
1

8
.5

2
8

8
7

2
8

1
8

0

M4 nut+S/W+P/W
(Standard connection torque : 15-20 kgf.cm)

80

50

25

22

1
0

.2

1
1

5

1
6

2

83

25
A

B

3
4

8
1

3
4

1
9

.5

A : Cut-out before bus bar assembly.

B : Cut-out for wiring of signal accessories.

[Drilling holes for mounting]

25

5
5

1
0

8

1
0

(M
a

x.
)

[Connection conductor]

※

※

No.
of
poles

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

※ •



/

80
60

40

20

10
8
6

2

1

40

20

10
8
6

4

2

1
0.8
0.6

0.4

0.2

0.1
0.08
0.06

0.04

0.02

0.01

240
180
150
120
100

4

100120150 200 300 400500600 800 1000 18002200 3000 4000 6000 800010000

40-100A

Max.

Current

Percentage for rated current (%)

S
e

co
n

d

T
ri

p
p

in
g

 t
im

e

M
in

u
te

Min.

※

No.
of
poles

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

±
±
±
±
±
±
±

•

•

•

•

•

•

※ 

80
60

40

20

10
8
6

2

1

40

20

10
8
6

4

2

1
0.8
0.6

0.4

0.2

0.1
0.08
0.06

0.04

0.02

0.01

100120150 200 300 400500600 800 1000 18002200 3000 4000 6000 800010000

Max.

240
180
150
120
100

4

Current

Percentage for rated current (%)

S
e

co
n

d

T
ri

p
p

in
g

 t
im

e

M
in

u
te

15-32A

Min.

±
±
±
±
±
±

0 10 20 30 40 50

130

120

110

100

90

80

Ambient temperature (˚C) 

D
er

at
in

g 
ra

te
 fo

r 
ra

te
d 

cu
rr

en
t (

%
)



7

7

2P

2P
Mounting hole Mounting hole Mounting hole

3P 4P

Trip
button

Trip
button

Trip
button

25

37.5

50

50 25 25

100

25

8.6

22

75

2
0

.5

5
0

1
1

5

1
3

0

8
3

.5

4.6

8
82

60
56
50 10 16.4 24

7
.2

5.5(15~30A)

9(60~100A)

(M
a

x.
)

(Max.)
C3.5

15

M5 screw (3-50A)
(Standard connection torque : 20-30 kgf.cm)

M8 screw (60-100A)
(Standard connection torque : 100-120 kgf.cm)

24
[Connection conductor] 

[Terminal part]

M4×0.7 mounting screw
(Standard connection torque : 15-20 kgf.cm)

[Drilling holes for mounting]

3P 4P

M4×0.7 tapped hole
(Standard connection torque : 15-20 kgf.cm)

12.5 25

1
1

0

25

4P
3P

2P

25

[Panel cut-out]

2P 3P 4P

48
12.5 71 35.5

96

5
3

for handle exposure
(total breaker height: 64mm)

for handle and trip button exposure
(total breaker height: 60mm)

※

[Drilling holes for mounting]

25

4-  6 hole

5
5

1
8

0

21(Max.)

1
0

(M
a

x.
)

6.5

[Connection conductor]

[Panel cut-out]
83
25

3
4

1
9

.5

B

A

A : Cut-out before bus bar assembly.

B : Cut-out for wiring of signal accessories.

3
4

8
1

[Plug-in connection part]

2

1
8

.5M4 nut+S/W+P/W
(Standard connection 

torque : 15-20 kgf.cm)

M6 nut+S/W+P/W
(Standard connection 

torque : 40-50 kgf.cm)

23.5

RH screw

M4×L18+S/W+P/W
(Standard connection 

torque : 15-20 kgf.cm)

1
3

0

101

80 2

6

1
8

.5
2

8
8

7

1
8

0

2
8

20

41

56

M4 nut+S/W+P/W
(Standard connection torque : 15-20 kgf.cm)

※ •

[Mounting base]

80

50

25

1
0

.2

1
1

5

22

1
6

2



/

130

120

110

100

90

80
0 10 20 30 40 50

D
er

at
in

g 
ra

te
 fo

r 
ra

te
d 

cu
rr

en
t (

%
)

Ambient temperature (˚C) 

50-125A

15-40A

•

•

•

•

2P 3P 4P

1
3

2

4P
3P

2P

2P

59

15

88

44

118

5
3

3P 4P

Mounting hole Mounting hole Mounting hole
2P 3P 4P

Trip
button

Trip
button

Trip
button

30

60

60

90

1
6

37

30

45

120

30 30

1
3

4

1
5

5

1
0

1
.5

5
0

24

84.5

60

15 22

10

6.5

M8 screw
(Standard connection torque : 100-120 kgf.cm)

M4×0.7 mounting screw
(Standard connection torque : 15-20 kgf.cm)

9 hole 8
.5

(M
a

x.
)

(Max.)17

[Connection conductor] 

[Terminal part]

17.4
24

10
.5

7
.3

Inhex bolt M8×L25
(Standard connection torque : 
100-120 kgf.cm)

[Drilling holes for mounting]

15 30 30 30

M4×0.7 tapped hole
(Standard connection torque : 15-20 kgf.cm)

26

[Panel cut-out]

for handle exposure
(total breaker height: 64mm)

for handle and trip button exposure
(total breaker height: 60mm)

Min. (15-30A)

100 125 200 300 400 500 600700 1000 1500 2000 3000 4000

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r

4

2

1

30

20

14
10

6

4

2

1

30

20

10

5

2

1

0.5

0.2

0.1

0.05

0.02

0.01

Percentage for rated current (%)

Current

15-100A

Max. (60-100A)

Max. (40, 50A)

Min. (40-100A) Max. (15-30A)

※ 

※ •

±
±
±
±
±
±
±
±
±
±
±
±
±



2

[Plug-in connection part]

M5 nut+S/W+P/W
(Standard connection torque : 20-30 kgf.cm)

M6 nut+S/W+P/W
(Standard connection torque : 40-50 kgf.cm)

2

23.5

RH screw

M5×L20+S/W+P/W
(Standard connection torque : 
20-30 kgf.cm)

1
5

5

81

105.5

4
62
7

.5
9

9

6

1
9

1

2
7

.5 4
8

21

41
M5 nut+S/W+P/W
(Standard connection torque : 20-30 kgf.cm)

30

60

94

[Mounting base]

1
3

.5

26.5

1
3

4

1
7

2
.5

[Panel cut-out]

97

80

3
3

.5
9

3 19
.5

3
3

.5

A

B

A : Cut-out before bus bar assembly.

B : Cut-out for wiring of signal accessories.

30

4-  5.5 hole

5
5

1
9

1

[Drilling holes for mounting]

[Connection conductor]

26(Max.)

6.5

1
3

(M
a

x.
)

※

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

※ •

※



/

•

•

•

•

•

•

130

120

110

100

90

80
0 10 20 30 40 50 60

D
er

at
in

g 
ra

te
 fo

r 
ra

te
d 

cu
rr

en
t (

%
)

Ambient temperature (˚C) 

16-30A

40-125A

D
er

at
in

g 
ra

te
 fo

r 
ra

te
d 

cu
rr

en
t (

%
)

130

120

110

100

90

80
0 10 20 30 40 50 60

Ambient temperature (˚C) 

4

2

1

30

20
14
10

6
4

3

1

30

20

10

5

2

1

0.5

0.2

0.1

0.05

0.02

0.01

100 125 200 300 400 500 600700 1000 1500 2000 3000 4000

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r 15-32A

Current

Percentage for rated current (%)

Min.

Max.

4

2

1

30

20
14
10

6
4

3

1

30

20

10

5

2

1

0.5

0.2

0.1

0.05

0.02

0.01

100 125 200 300 400 500 600700 1000 1500 2000 3000 4000

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r

Current

Percentage for rated current (%)

40-125A

Max. (60-125A)

Max. (40, 50A)

Min. (40-125A)

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

※

±
±
±
±
±
±

※ 

±
±
±
±
±
±
±
±



6

[Plug-in connection part]

M5 nut+S/W+P/W
(Standard connection torque : 
20-30 kgf.cm)

RH screw

M5×L20+S/W+P/W
(Standard connection torque : 20-30 kgf.cm)

M6 nut+S/W+P/W
(Standard connection torque : 
40-50 kgf.cm)

23.5

2

105.5

81 2

1
5

5

41

21

M5 nut+S/W+P/W
(Standard connection torque : 
20-30 kgf.cm)

27
.5 4

6

9
9

1
9

1

27
.0

4
6

[Panel cut-out] [Drilling holes for mounting]

97

80

3
3

.5
9

3
3

3
.5

19
.5

A

B

A : Cut-out before bus bar assembly.

B : Cut-out for wiring of signal accessories.

30

4-  5.5 hole

5
5

1
9

1

94
60
30

1
3

.5

1
3

4

1
7

2
.5

26.5

[Mounting base]

8

23

30 30

90

1
6

30 30 30

120

5
0

1
3

4

1
5

5

1
0

1

24

84.5
60
55
48

10

10

M4×0.7 
mounting screw
(Standard connection torque : 
15-20 kgf.cm)

[Connection conductor] 

9 hole

8
.5

(M
a

x.
)

17 (Max.)

18

8
.5

1
0

.5 24

[Terminal part]

Inhex bolt M8×L25
(Standard connection torque : 
100-120 kgf.cm)

[Drilling holes for mounting]

30 30 30 25

5
3

[Panel cut-out]

5
3

5
3

88 118
44

2P, 3P 4P

 

M8 screw
(Standard connection torque : 100-120 kgf.cm)

Trip
button

Trip
button

37

3P 4P

M4 tapped hole
(Standard connection torque : 15-20 kgf.cm)

1
3

2

4P
3P 3P 4P

for handle exposure
(total breaker height: 66mm)

for handle and trip button exposure
(total breaker height: 60mm)

※ •

※

6.5

[Connection conductor]

26(Max.)

1
3

(M
a

x.
)



/

130

120

110

100

90

80
0 10 20 30 40 50 60D

er
at

in
g 

ra
te

 fo
r 

ra
te

d 
cu

rr
en

t (
%

)

Ambient temperature (˚C) 

※ •

11

8

11

9

70

105

1
4

.5

35 35 35

52.5

140

23
.5

26
.5

1
4

3

1
6

4

4
9

.5
5

1
.5

7

4

84

6011

12

55

24

11

97

23 23

2
3

3
5

35 35 35

23

1
1

.5

3
5

4 24

25

1
0

.5 24

1
1

(M
a

x.
)

23(Max.)

option
Mounting hole Mounting hole

3P 4P M8 screw
(Standard connection torque : 100-120 kgf.cm)

Trip
button

Trip
button

35.5 23

44.5

M4×0.7
mounting
screw
(Standard
connection
torque :
15-20 kgf.cm)

[with terminal

bus bar] 

[Terminal part]

Inhex bolt 
M8×L25
(Standard connection
torque : 100-120 kgf.cm)

[Connection conductor] 

[Drilling holes for mounting]

3P 4P

35

1
2

5

4P
3P

5
3

26 103

M4×0.7 tapped hole
(Standard connection torque : 15-20 kgf.cm)

[Panel cut-out]

3P

51.5
138

2
8

5
3

4P

for handle exposure
(total breaker height: 64mm)

for handle and trip button exposure
(total breaker height: 60mm)

•

•

•

•

125-250A
4

2

1

30

20

14

10

8

6

2

1

30

20

10

5

2

1

0.5

0.2

0.1

0.05

0.02

0.01

100 125 200 300 400 500 600 700 1000 1500 2000 3000 4000

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r

Max.

Min.

Percentage for rated current (%)

Current

±

±

±

±

±

±

±

※ 



※ •

24.7 77.5 57.5

1
8

5

1
4

3

1
2

.5

2
1

[Mounting base]

25.5

28.5

70

112

1
9

.5

4
2

7
4

2
4

8

[Plug-in connection part]

Max. width of conductor : 25mm28 25.5

[Drilling holes for mounting]

Attaching angle

25×25×t3

25

12

15 0.0
-0.2

45

1
3 2
4

6 hole for CBM 20C 2/5

5
3

1
9

6

6 hole

70

M5 nut+S/W+P/W
(Standard connection torque : 20-30 kgf.cm)

M5 screw+S/W+P/W
(Standard connection torque : 20-30 kgf.cm)

M8 nut+S/W+P/W
(Standard connection torque : 100-120 kgf.cm)

※ 

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles



/

※ •

100-250A
2

4

130

120

110

100

90

80
0 10 20 30 40 50 60

1

30

20

14
10

6

4

2

1

30

20

10

5

2

1

0.5

0.2

0.1

0.05

0.02

0.01

100 125 200 300 400 500 600 700 1000 1500 3000 4000

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

o
u

r

Max.

Min.

Percentage for rated current (%)

D
er

at
in

g 
ra

te
 fo

r 
ra

te
d 

cu
rr

en
t (

%
)

Ambient temperature (˚C) 

Current

35

11

8

option

9

M8 screw
(Standard connection torque : 100-120 kgf.cm)

Mounting holeMounting hole
3P 4P

35 35 35 35 35

5
0

1
4

4

105

1
6

44.5

23

140

1
6

5

1
0

1

24

4

M4×0.7 
mounting screw
(Standard connection
torque : 15-20 kgf.cm)

48
55

60

84.5

10

10
11

35

45

35 35

23

1
1

.5

3
5

[Terminal part][with terminal

bus bar]

4 24

22

23

1
0

.5
1

1

24

Inhex bolt 
M8×L25
(Standard connection 
torque : 100-120 kgf.cm)

97

23 23

2
3

3
5

[Connection conductor] 

1
1

(M
a

x.
)

(Max.)

[Panel cut-out]

4P
3P 3P

5
3

25 103 51.5

5
3 5

3

138

4P

1
2

5

3535

M4 tapped hole
(Standard connection torque : 15-20 kgf.cm)

[Drilling holes for mounting]

3P 4P

for handle exposure
(total breaker height: 66mm)

for handle and trip button exposure
(total breaker height: 60mm)

•

•

•

•

•

•

※ 

±

±

±

±

±

±

±

±



※ •

1
2

.5

M8 nut+S/W+P/W
(Standard connection torque : 100-120 kgf.cm)

Max. width of conductor : 25mm
28 25.5

M5 nut+S/W+P/W
(Standard connection torque : 20-30 kgf.cm)

M5 screw+S/W+P/W
(Standard connection torque : 20-30 kgf.cm)

1
4

4

1
8

6

24.7 77.5 57.5

[Plug-in connection part] [Mounting base]

25.5

28.5

70

112

1
9

.5

4
2

2
4

8

7
4

Attaching angle

25×25×t3 6 hole for CBM 20C 2/5

15

25

12

45

1
3 2
4

1
9

6

5
3

6 hole
0.0

-0.2

[Drilling holes for mounting]

70

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

※



/

115

110

105

100

95

90

85

80
0 5 10 15 20 25 30 35 40 45 50 55 60D

er
at

in
g 

ra
te

 fo
r 

ra
te

d 
cu

rr
en

t (
%

)

Ambient temperature (˚C) 

Current

250-400A
4

2

1

40

20

10

6

4

2

1

40

20

10

6

4

1

2

0.6

0.4

0.2

0.1

0.06

0.04

0.02

0.01

100 150 200 300 400 500 600 800100012001500 2000 3000 4000 6000 8000

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r

Min.

Max.

Percentage for rated current (%)

[Terminal part] [Connection conductor] 

51

40

11

24
.5

2P, 3P

143
12.5 59 59

44
12.5

3
0

3
1

7

2
2

5

2
1

5

1
5

0
9

5

24
.5 2

5
7

40

51

25 25 25

4444

140

30.5

4P

12.5 59 59 59
202

44
12.5

11
3

0
1

5
0

9
5

25

44 44

2525 25

44

185

1
3

.5

9
.5

84

8
4
37

80 145
115.5
110

95

8 37
2

15

M6 mounting screw
(Standard connection torque : 
40-50 kgf.cm)

2
9

13

Inhex bolt M8×L30
(Standard connection torque : 
100-120 kgf.cm) 11

1
2

.5
(M

a
x.

)

30(Max.)

표면접속

•

•

•

•

•

※ 

±

±

±

±

±

※ •



[Mounting base]

[Plug-in connection part]

[Drilling holes for mounting]

45

9

113 71.5 10

1
1

2
.5

1
3

9
.5

1
1

2
.5

1
3

9
.5

M8 mounting screw
(Standard connection torque : 
100-120 kgf.cm)

Supportor

M5 screw
(Standard 
connection
torque : 
20-30 kgf.cm)

60

15
2

0
5

4

8
9

90

140

15

18 46.5 35

M10 screw
(Standard connection torque : 160-230 kgf.cm)

Max. with of conductor : 35mm

Attaching angle

6 for supportor

60

2
1

4
4

.5
4

4
.5

2
1

6
5

.5
6

5
.5

22

44

[Drilling holes for mounting] [Panel cut-out]

54 (143)

(188)

9
8

for handle exposure for handle and trip button exposure

4P

2P, 3P

2
1

5

95

112

9
8

2P, 3P

4P

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

※ 

※ •



/

표면접속

115

110

105

100

95

90

85

80
0 5 10 15 20 25 30 35 40 45 50 55 60D

er
at

in
g 

ra
te

 fo
r 

ra
te

d 
cu

rr
en

t (
%

)

Ambient temperature (˚C) 

500-630A
4

2

1

40

20

10

6

4

2

1

40

20

10

6

4

2

1

0.6

0.4

0.2

0.1

0.06

0.04

0.02

0.01
100 150 200 300 400 500 600 80010001200 1500 2000 3000 4000 6000 8000

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r

Min.

Max.

Percentage for rated current (%)

Current

±

±

75

2P, 3P

210

70

16
.5

3
2

8

70

7
0

2
4

3

1
5

0

9
5

75

40
70

7
0

2
8

0
24

.5

24
.5

4P

280

70 70 70

7
0

2
8

0
7

0

40
70

84

8 34.5

1
3

.5

9
.5

6

4
8 34.5 15
95

110
115.5

14580

M6 mounting screw
(Standard connection torque : 
40-50 kgf.cm)

[Terminal part]

46 13

1
2

.5

3
1

Inhex bolt 
M12×L30
(Standard connection 
torque : 400-450 kgf.cm)

[Connection conductor] 

45 (Max.)

1
2

.5
(M

a
x.

)

58 58

1
5

0

9
5

•

•

•

•

•

※ 

※ •



Max. with of conductor : 40mm

11

90

140

210

21

3
0

3
2

1
8

2
0

1
0

0

[Mounting base] [Drilling holes for mounting]

Attaching angle

15

6 for supportor

2
5

4
6

.5
4

6
.5

2
5

7
1

.5
7

1
.5

90

45

[Plug-in connection part]

20

44 60

M16 screw
(Standard connection torque : 
1,000-1,150 kgf.cm)

M10 mounting screw
(Standard connection torque : 
160-230 kgf.cm)

1
2

1
.5

1
5

1
.5

1
2

1
.5

1
5

1
.5

Supportor

M5 screw
(Standard 
connection
torque : 
20-30 kgf.cm)

116.2 59 45

4P

2P, 3P

2
4

3

70

95
112 61

9
8

(213)

(283)

2P, 3P

4P

9
8

[Panel cut-out]

for handle exposure for handle and trip button exposure

[Drilling holes for mounting]

※ •

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

※ 



/

115

110

105

100

95

90

85

80
0 5 10 15 20 25 30 35 40 45 50 55 60D

er
at

in
g 

ra
te

 fo
r 

ra
te

d 
cu

rr
en

t (
%

)

Ambient temperature (˚C) 

700-800A
4

2

1

40

20

10

6

4

2

1

40

20

10

6

4

2

1

0.6

0.4

0.2

0.1

0.06

0.04

0.02

0.01

100 150 200 300 400 500 600 80010001200 1500 2000 3000 4000 6000 8000

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r

Percentage for rated current (%)

Current

Min.

Max.

75

58

75

210

70 70

16
.5

3
2

2
4

3

1
5

0
9

5
8

7
0

7
0

2
8

0

24
.5

70

40

7
0

1
5

0

9
5

280

70 70 70

2
8

0

24
.5

7
0

40

58

70

4P

[Terminal part] [Connection conductor] 

Inhex bolt 
M12×L30
(Standard connection 
torque : 400-450 kgf.cm)

46

3
1

1
2

.5

13

1
2

.5
(M

a
x.

)

(Max.)45

84

10 34.5

6

1
3

.5

9
.5

M6 mounting screw
(Standard connection torque : 
40-50 kgf.cm)

4

10 1534.5

95
110

115.5

14580

•

•

•

•

•

※ 

±

±

※ •



※ 

140

[Mounting base]

90

210

3
0

3
2

1
8

2
0

1
0

0

[Plug-in connection part]

21 20

44 60

Max. with of conductor : 40mm

M16 screw
(Standard connection torque : 1,000-1,150 kgf.cm)

[Drilling holes for mounting]

Attaching angle

15

45

90
11

2
5

4
6

.5
4

6
.5

2
5

7
1

.5
7

1
.5

6 for supportor

M10 mounting screw
(Standard connection torque : 
160-230 kgf.cm)

1
2

1
.5

1
2

1
.5

1
5

1
.5

1
5

1
.5

Supportor

M5 screw
(Standard 
connection
torque : 
20-30 kgf.cm)

116.2 59 45

4P

[Drilling holes for mounting]

2P, 3P

2
4

3

70

95

112
61

9
8

9
8

(213)

(283)

2P, 3P

4P

for handle exposure for handle and trip button exposure

[Panel cut-out]

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

※ •



/

Ii

Isd

In×% Ir×%

for I2t "ON" 

505-1000A
4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50

40
30

20

12
10
8
6
5
4
3

2

1
0.8
0.6
0.5
0.4

0.3
0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.01
0.008
0.006
0.005

10 20 30 40 50 80 90 10
0

12
5

15
0

20
0

25
0

30
0

40
0

50
0

60
0

70
0

80
0

90
0

10
00

11
00

12
00

13
00

15
00

20
00

25
00

30
00

Current

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
Ho

ur

Ig

Ip

Ir

for I2t "OFF" 

±

±

 +

 -

±

±

 +

 -

±

※

※ •

•

•

•

N

3
6

1
4

1
6

2525

45

Mounting hole

3P 4P

7
3

3
7

0

5
1

6

70 70 70

7
3

2
1

1
6

36

280

7070

210

45 45
13

[Drilling holes for mounting]

4P
3P

3
3

8

70

M8 tapped hole
(Standard connection 
torque : 100-120 kgf.cm)

3
1

0

M8 mounting screw
(Standard connection torque : 
100-120 kgf.cm)

30 14

2514

110

115

159

5

7

80

[Panel cut-out]

[Terminal part]

[Connection conductor]

45

2
0

Inhex bolt M10×L30
(Standard connection torque : 
160-230 kgf.cm)

4P
3P

78.5

3
7

.5

9
9

6
1

.5

44

8 for trip button

※ 



※ •

7
3

N

Mounting hole

4P3P
3

7
0

5
1

6

7
3

2
1

1
6

3
6

707070

280210

7070
13

M8 screw
(Standard connection torque : 100-120 kgf.cm)

120 14

3
1

0

14 115

200

205

24980

7

5

45

2
0

3
6

[Connection conductor] 

[Terminal part]

1
4

1
6

25

45

25
115

Inhex bolt M10×L30
(Standard connection 
torque : 160-230 kgf.cm)

[Drilling holes for mounting]

4P
3P

3
3

8

70
M8 tapped hole
(Standard connection
torque : 100-120 kgf.cm)

[Panel cut-out]

4P
3P

78.5

6
1

.5 9
9

3
7

.5

44

8 for trip button

45 45

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

※ 



/

630-1250A
4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50

40
30

20

12
10
8
6
5
4
3

2

1
0.8
0.6
0.5
0.4

0.3
0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.01
0.008
0.006
0.005

10 20 30 40 50 80 90 10
0

12
5

15
0

20
0

25
0

30
0

40
0

50
0

60
0

70
0

80
0

90
0

10
00

11
00

12
00

13
00

15
00

20
00

25
00

30
00

In×% Ir×%

Current

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
Ho

ur

Ig

Ip

Ir

Ii

Isd

for I2t "ON" 

for I2t "OFF" 

※

•

•

•

N

Mounting hole

3P 4P

7
3

3
7

0

5
1

6

7
3

2
1

1
6

3
6

707070

280210

45 45

7070
13

4P
3P

70

3
3

8

M8 tapped hole
(Standard connection 
torque : 100-120 kgf.cm)

M8 mounting screw
(Standard connection torque : 
100-120 kgf.cm)

30 14

2517

110

115

159

5

7

80

3
1

0

[Connection conductor]

3
6

45

2
0

1
4

1
6

2525

45

[Terminal part]

Inhex bolt M10×L30
(Standard connection torque : 
160-230 kgf.cm)

[Panel cut-out]

4P
3P

78.5

3
7

.5

9
9

6
1

.5

44

8 for trip button

[Drilling holes for mounting]

※ 

※

± 

± 

 + 

 - 

± 

± 

 + 

 - 

± 



※ •

7
3

N

Mounting hole

4P3P

3
7

0

5
1

6

7
3

2
1

1
6

3
6

707070

280210

7070
13

M8 mounting screw
(Standard connection torque : 100-120 kgf.cm)

3
1

0

120 14

11517

200

205

24980

5

7

45

2
0

3
6

[Connection conductor] 

[Terminal part]

1
4

1
6

25

45

25
115

Inhex bolt M10×L30
(Standard connection 
torque : 160-230 kgf.cm)

[Panel cut-out]

4P
3P

78.5

6
1

.5 9
9

3
7

.5

44

8 for trip button

[Drilling holes for mounting]

4P
3P

3
3

8

70
M8 tapped hole
(Standard connection
torque : 100-120 kgf.cm)

45 45

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles



//

•

±20%

640-1600A
10000

5000

2000

1000

500

200

100

50

20

10

5

2

1

0.5

0.2

0.1

0.05

0.02

0.01

0.005
100 200 300 400 500600 800 1000 2000 3000

Current

Percentage for rated current (%)

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d

I2

210
50

60

1
0
9

3
61

5
1

R25

70 70

70

3
3
8

7

[Terminal cover] [Extension handle]

[with terminal cover and extension handle] [Drilling holes for mounting]

293

1
5
1

1
1
0

2
4

3
9
5

5
1

3
7
1

1
3
9

5
6
8

1
0
0 3

2
1
5

45 25

21

40
151

170

212

1
7

3
3
8

1
6

13

105

±

※

※ •





/

D
er

at
in

g 
ra

te
 fo

r 
ra

te
d 

cu
rr

en
t (

%
)

Ambient temperature (˚C) 

15-30A 40-50A

63-125A 125-250A

4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
0.8
0.6
0.5
0.4
0.3

0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.01
0.008
0.006
0.005

4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
0.8
0.6
0.5
0.4
0.3

0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.01
0.008
0.006
0.005

1
0
0

1
0
5

1
2
5

1
5
0

2
0
0

2
5
0

3
0
0

4
0
0

5
0
0

6
0
0

7
0
0

8
0
0

9
0
0

1
0
0
0

1
2
0
0

1
5
0
0

2
0
0
0

2
5
0
0

3
0
0
0

4
0
0
0

5
0
0
0

6
0
0
0

7
0
0
0

8
0
0
0

4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
0.8
0.6
0.5
0.4
0.3

0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.01
0.008
0.006
0.005

110

115

105

100

95

90

85

80

0 5 10 15 20 25 30 35 40 45 50 55 60

T
ri

p
p

in
g

 t
im

e

Current

S
e

co
n

d
M

in
u

te
H

ou
r

Min. Max.

Percentage for rated current (%)

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r

Current

Percentage for rated current (%)

1
0
0

1
0
5

1
2
5

1
5
0

2
0
0

2
5
0

3
0
0

4
0
0

5
0
0

6
0
0

7
0
0

8
0
0

9
0
0

1
0
0
0

1
2
0
0

1
5
0
0

2
0
0
0

2
5
0
0

3
0
0
0

4
0
0
0

5
0
0
0

6
0
0
0

7
0
0
0

8
0
0
0

Min. Max.

T
ri

p
p

in
g

 t
im

e

Current

S
e

co
n

d
M

in
u

te
H

ou
r

Percentage for rated current (%)

1
0
0

1
0
5

1
2
5

1
5
0

2
0
0

2
5
0

3
0
0

4
0
0

5
0
0

6
0
0

7
0
0

8
0
0

9
0
0

1
0
0
0

1
2
0
0

1
5
0
0

2
0
0
0

2
5
0
0

3
0
0
0

4
0
0
0

5
0
0
0

6
0
0
0

7
0
0
0

8
0
0
0

Min. Max.

4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
0.8
0.6
0.5
0.4
0.3

0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.01
0.008
0.006
0.005

1
0
0

1
0
5

1
2
5

1
5
0

2
0
0

2
5
0

3
0
0

4
0
0

5
0
0

6
0
0

7
0
0

8
0
0

9
0
0

1
0
0
0

1
2
0
0

1
5
0
0

2
0
0
0

2
5
0
0

3
0
0
0

4
0
0
0

5
0
0
0

6
0
0
0

7
0
0
0

8
0
0
0

T
ri

p
p

in
g

 t
im

e

Current

S
e

co
n

d
M

in
u

te
H

ou
r

Percentage for rated current (%)

Min. Max.

±

±

 ±

±

±

±

±

• •

• •

• •

• •

• •

• •

• •

•

※ 

±

±

±

±

±

±

±

±

±

±

±

±



[Mounting base] [Panel cut-out] [Drilling holes for mounting] [Plug-in connection part]

4-  6 tap

M8 bolt
(Standard 
connection 
torque : 
100-120 kgf.cm)

4-  6 
mounting hole

96
41

24 5

92.5
110 37 30

3
5

1
0

7 7
5

105

70

35

1
1

3
1

4
4

1
7

5
1

5

1
9

0

1
9

0

1
7

9

109

35

31
31

1
5

4-M5 tap
(Standard 
connection 
torque : 
20-30 kgf.cm)

3
0

70

26.5

22.5

26
M8 mounting screw
(Standard connection torque : 
100-120 kgf.cm)

9

R5

A

t4
A

option

3P 4P
105

35 23

11
2

0
1

6
5

1
4

4

1
4

6

45 45

90
113

1
9

11

11

128

35 35 23

11
2

0

1
6

5

1
4

4

1
4

4

35 35 35

140

112

86.5

71 10

[Drilling holes for mounting]

4P
3P

35 35 30
M4 tap 0.7
(Standard connection torque : 15-20 kgf.cm)

M4×0.7
tapped hole
(Standard 
connection 
torque : 
15-20 kgf.cm)

[Panel cut-out]

4P
3P

2
7

.5

7
5

.5

[Connection conductor] [Terminal part] [with terminal bus bar]

23(Max.)

(M
a

x.
)9

24 8
.5

9
.5

9
.5

24

M8 bolt
(Standard 
connection 
torque : 
100-120 kgf.cm)

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

※ •



/

50-250A
4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
0.8
0.6
0.5

0.3

0.2

0.1
0.8
0.6
0.5
0.4
0.3

0.2

0.01
0.8
0.6
0.5

50 70 100 150 200 300 400 500 700 1000 1500 2000 3000 4000 50007000 8000 10000 15000 20000 30000

0.4

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
Ho

ur

Ir×%

Current

Ii = 11 x In 

Isd = 2..... 10 x Ir

Ir = 125, 160, 250

Max. total breaking time

t < 10ms

• •

• •

• •

• •

• •

• •

±

 +

 -

±

±

※



※ •

9

R5

A

t4
A

option

3P 4P
105

35 23

11
2

0
1

6
5

1
4

4

1
4

6

45 45

90
113

1
9

11

11

128

35 35 23

11
2

0

1
6

5

1
4

4

1
4

4

35 35 35

140

112

86.5

71 10

[Drilling holes for mounting]

4P
3P

35 35 30
M4 tap 0.7
(Standard connection torque : 15-20 kgf.cm)

M4×0.7
tapped hole
(Standard 
connection 
torque : 
15-20 kgf.cm)

[Panel cut-out]

4P
3P

2
7

.5

7
5

.5

[Connection conductor] [Terminal part] [with terminal bus bar]

23(Max.)

(M
a

x.
)9

24 8
.5

9
.5

9
.5

24

M8 bolt
(Standard 
connection 
torque : 
100-120 kgf.cm)

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

[Mounting base] [Panel cut-out] [Drilling holes for mounting] [Plug-in connection part]

4-  6 tap

M8 bolt
(Standard 
connection 
torque : 
100-120 kgf.cm)

4-  6 
mounting hole

96
41

24 5

92.5
110 37 30

3
5

1
0

7 7
5

105

70

35

1
1

3
1

4
4

1
7

5
1

5

1
9

0

1
9

0

1
7

9

109

35

31
31

1
5

4-M5 tap
(Standard 
connection 
torque : 
20-30 kgf.cm)

3
0

70

26.5

22.5

26
M8 mounting screw
(Standard connection torque : 
100-120 kgf.cm)



/

T
ri

p
p

in
g

 t
im

e

200-630A
4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50
40
30

20

12
10
8
6
5
4
3

2

1
0.8
0.6
0.5

0.4
0.3
0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.01
0.008
0.006
0.005

10 20 30 40 50 80 90 10
0

12
5

15
0

20
0

25
0

30
0

40
0

50
0

6
0
0

7
0
0

8
0
0

9
0
0

1
0
0
0

1
1
0
0

1
2
0
0

1
3
0
0

15
00

20
00

25
00

30
00

S
e

co
n

d
M

in
u

te
Ho

ur

Ir×%

Current

Ip

Ir

Ig

Ii

Isd

for I2t "ON" 

for I2t "OFF" 

In×%

3P 4P
140

1
5

1
6

4
716

16
1

5
1

6

4
7

30

6060

150

13 13

185

27.5 27.5

12.5 12.515

2
4

2
4

1
5

1
6

16 4
7

9
8

.5
1

2
8

.5

1
1

2
.5

1
4

2
.5

2
5

5

60 60 60

210

52.5 30

16
1

6
1

5

4
7

M10 screw
(Standard connection torque : 160-230 kgf.cm)

option[with terminal bus bar]

39.5
6

1
6

1
.52
0

1

81 15

M5 mounting screw
(Standard connection torque : 
20-30 kgf.cm)

119.510

159.5

[Drilling holes for mounting]

4P
3P

1
0

0
1

3
0

45

M5 tapped hole
(Standard connection 
torque : 20-30 kgf.cm)

4P
3P

[Panel cut-out]

1
1

3

63

[Connection conductor]

10.5

30

34

(Max.)

1
5

(M
a

x.
)

1
4

1
6

33.5

Inhex bolt M10×L30
(Standard connection torque : 
160-230 kgf.cm)

[Terminal part]

※ •

※

• •

• •

• •

• •

• •

± 

± 

 + 

 - 

± 

± 

 + 

 - 

± 

※



[Connection conductor]

10.5

30

34

(Max.)

1
5

(M
a

x.
)

1
4

1
6

33.5

Inhex bolt M10×L30
(Standard connection torque : 
160-230 kgf.cm)

[Terminal part]

[Drilling holes for mounting] [Panel cut-out]

4P
3P

4P
3P

1
0

0
1

3
0

45

M5 tapped hole
(Standard connection 
torque : 20-30 kgf.cm)

1
1

3

4
1

.5

63

4P

13

185
27.5 27.5

12.5 12.515

24 24

1
6

16
1

5

4
7

9
8

.5
1

2
8

.5

1
4

2
.5

1
1

2
.5

2
5

5

1
6

16
1

5

4
7

3052.5

60 6060

210

3P
140

1
5

1
6

16
16

4
7

1
6

1
5

4
7

30

6060

150

13

M10 screw
(Standard connection torque : 160-230 kgf.cm)

option[with terminal bus bar]

41.5
8

8
5

.5
1

1
5

.5

1
0

2
.5

5
5

81 15

10 119.5

159.5

M5 mounting screw
(Standard connection torque : 
20-30 kgf.cm)

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

4-M5 tap

27

27

1
5

5

1
8

.5
1

1
.5

90

[Plug-in connection part][Drilling holes for mounting]

M5 
mounting screw
(Standard connection 
torque : 20-30 kgf.cm)

(Standard 
connection 
torque : 

20-30 kgf.cm)

130

2
2

.5
2

2
.545

90

140

2
7

0

2
9

8

2
2

7

1
8

8

57.7
33.5

119.5

124.5

164.5

39 52.5

37
.5

37
.5

3
0

1
8

0

5

144

2
9

8

2
7

4

45

[Panel cut-out][Mounting base]

※ •



/

•

•

•

•

※

※

125A
4

2

1

30

20
14
10

6

4

2

1

30

20

10

5

2

1

0.5

0.2

0.1

0.05
0.04
0.03
0.02

0.01

1
0
0

1
2
5

2
0
0

3
0
0

4
0
0

6
0
0

7
0
0

8
0
0

9
0
0

1
0
0
0

1
1
0
0

1
2
0
0

1
3
0
0

2
0
0
0

3
0
0
0

5
0
0
0

7
0
0
0

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

o
u

r

Percentage for rated current (%)

Current

Min. Max.

Instantaneous trip

current (600-1300%)

250A
4

2

1

30

20
14
10

6

4

2

1

30

20

10

5

2

1

0.5

0.2

0.1

0.05
0.04
0.03
0.02

0.01

1
0
0

1
2
5

2
0
0

3
0
0

4
0
0

5
0
0

6
0
0

7
0
0

8
0
0

9
0
0

1
0
0
0

1
5
0
0

2
0
0
0

3
0
0
0

5
0
0
0

7
0
0
0

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

o
u

r

Percentage for rated current (%)

Current

Min. Max.

Instantaneous trip

current (500-1000%)



3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

[Mounting base] [Panel cut-out] [Drilling holes for mounting] [Plug-in connection part]

4-  6 tap

M8 bolt
(Standard 
connection 
torque : 
100-120 kgf.cm)

4-  6 
mounting hole

96
41

24 5

92.5
110 37 30

3
5

1
0

7 7
5

105

70

35

1
1

3
1

4
4

1
7

5
1

5

1
9

0

1
9

0

1
7

9

109

35

31
31

1
5

4-M5 tap
(Standard 
connection 
torque : 
20-30 kgf.cm)

3
0

70

26.5

22.5

26
M8 mounting screw
(Standard connection torque : 
100-120 kgf.cm)

9

R5

A

t4
A

option

3P 4P
105

35 23

11
2

0
1

6
5

1
4

4

1
4

6

45 45

90
113

1
9

11

11

128

35 35 23

11
2

0

1
6

5

1
4

4

1
4

4

35 35 35

140

112

86.5

71 10

[Drilling holes for mounting]

4P
3P

35 35 30
M4 tap 0.7
(Standard connection torque : 15-20 kgf.cm)

M4×0.7
tapped hole
(Standard 
connection 
torque : 
15-20 kgf.cm)

[Panel cut-out]

4P
3P

2
7

.5

7
5

.5

[Connection conductor] [Terminal part] [with terminal bus bar]

23(Max.)

(M
a

x.
)9

24 8
.5

9
.5

9
.5

24

M8 bolt
(Standard 
connection 
torque : 
100-120 kgf.cm)

※ •



/

•

•

D
er

at
in

g 
ra

te
 fo

r 
ra

te
d 

cu
rr

en
t (

%
)

Ambient temperature (˚C) 

S

Min. Max.

15-30A

60-100A

40-50A
4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50
40

30
20

10
8
6
5
4
3

2

1
0.8
0.6
0.5
0.4
0.3

0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.008
0.01

0.006
0.005

10
0

10
5

12
5

15
0

20
0

25
0

30
0

40
0

50
0

60
0

70
0

80
0

90
0

10
00

12
00

15
00

20
00

25
00

30
00

40
00

50
00

60
00

70
00

80
00

115

110

105

100

95

90

85

80

0 5 10 15 20 25 30 35 40 45 50 55 60

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r

4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50
40

30
20

10
8
6
5
4
3

2

1
0.8
0.6
0.5
0.4
0.3

0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.008
0.01

0.006
0.005

10
0

10
5

12
5

15
0

20
0

25
0

30
0

40
0

50
0

60
0

70
0

80
0

90
0

10
00

12
00

15
00

20
00

25
00

30
00

40
00

50
00

60
00

70
00

80
00

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r

Percentage for rated current (%)

Current

Percentage for rated current (%)

Current

Percentage for rated current (%)

Current

4
3

2

1
50
40
30

20

10
8
6
5
4
3

2

1
50
40

30
20

10
8
6
5
4
3

2

1
0.8
0.6
0.5
0.4
0.3

0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.008
0.01

0.006
0.005

10
0

10
5

12
5

15
0

20
0

25
0

30
0

40
0

50
0

60
0

70
0

80
0

90
0

10
00

12
00

15
00

20
00

25
00

30
00

40
00

50
00

60
00

70
00

80
00

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

ou
r

Min. Max.

Min. Max.

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

±

±

±

±

±

±

±
±



R
5

A

option

9

35

1
4

6

1
4

4

1
8

5

70

105

Terminal cover

M8 bolt
(Standard connection 
torque : 100-120 kgf.cm)

Terminal cover

112

71

86.5

10

M4 tap 0.7
(Standard connection 
torque : 15-20 kgf.cm)

A

[with terminal bus bar]

[Connection conductor] [Terminal part]

t4

23(Max.)

9
(M

a
x.

)

24 8
.5

9
.5

9
.5

24

[Drilling holes for mounting]

1
4

4

35

M4×0.7 tapped hole
(Standard connection 
torque : 15-20 kgf.cm)

2
7

.5

3P 3P

[Panel cut-out]

7
5

.5

30

※ •



/

•

•

1

1

1

100A
4

2

1

30

20

14

10

6

4

2

1

30

20

10

5

2

1

0.5

0.2

0.1

0.05
0.04
0.03
0.02

0.01

10
0

12
5

20
0

30
0

40
0

60
0

70
0

80
0

90
0

10
00

11
00

12
00

13
00

20
00

30
00

50
00

70
00

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

o
u

r

Percentage for rated current (%)

Current

Min. Max.

Instantaneous trip

current (600-1300%)

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

※



R
5

A

option

9

35

1
4

6

1
4

4

1
8

5

70

105

Terminal cover

M8 bolt
(Standard connection 
torque : 100-120 kgf.cm)

Terminal cover

112

71

86.5

10

M4 tap 0.7
(Standard connection 
torque : 15-20 kgf.cm)

A

[with terminal bus bar]

[Connection conductor] [Terminal part]

t4

23(Max.)

9
(M

a
x.

)

24 8
.5

9
.5

9
.5

24

[Drilling holes for mounting]

1
4

4

35

M4×0.7 tapped hole
(Standard connection 
torque : 15-20 kgf.cm)

2
7

.5

3P 3P

[Panel cut-out]

7
5

.5

30

※ •



/

•

•

Current

125-225A
4

3

2

1
50
40
30

20

10
8
6
5
4

3

2

1
50
40

30

20

10
8

3

2

1
0.8
0.6
0.5
0.4
0.3

0.2

0.1
0.08
0.06
0.05
0.04
0.03

0.02

0.01
0.008
0.006
0.005

1
0
0

1
0
5

1
2
5

1
5
0

2
0
0

2
5
0

3
0
0

4
0
0

5
0
0

6
0
0

7
0
0

8
0
0

9
0
0

1
0
0
0

1
2
0
0

1
5
0
0

2
0
0
0

2
5
0
0

3
0
0
0

4
0
0
0

5
0
0
0

6
0
0
0

7
0
0
0

8
0
0
0

6
5
4

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

o
u

r

Percentage for rated current (%)

Min. Max.

115

110

105

100

95

90

85

80

0 5 10 15 20 25 30 35 40 45 50 55 60

D
er

at
in

g 
ra

te
 fo

r 
ra

te
d 

cu
rr

en
t (

%
)

Ambient temperature (˚C) 

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles



R
5

A

option

9

35

1
4

6

1
4

4

1
8

5

70

105

Terminal cover

M8 bolt
(Standard connection 
torque : 100-120 kgf.cm)

Terminal cover

112

71

86.5

10

M4 tap 0.7
(Standard connection 
torque : 15-20 kgf.cm)

A

[with terminal bus bar]

[Connection conductor] [Terminal part]

t4

23(Max.)

9
(M

a
x.

)

24 8
.5

9
.5

9
.5

24

[Drilling holes for mounting]

1
4

4

35

M4×0.7 tapped hole
(Standard connection 
torque : 15-20 kgf.cm)

2
7

.5

3P 3P

[Panel cut-out]

7
5

.5

30

※ •



/

225A
4

2

1

30

20

14
10

6

4

2

1

30

20

10

5

2

1

0.5

0.2

0.1

0.05
0.04

0.03
0.02

0.01

10
0

12
5

20
0

30
0

40
0

50
0

60
0

70
0

80
0

90
0

10
00

15
00

20
00

30
00

50
00

70
00

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te
H

o
u

r

Percentage for rated current (%)

Current

Max.Min.

Instantaneous trip

current (500-1000%)

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

Under
voltage trip

No.
of
poles

※

•

•



R
5

A

option

9

35

1
4

6

1
4

4

1
8

5

70

105

Terminal cover

M8 bolt
(Standard connection 
torque : 100-120 kgf.cm)

Terminal cover

112

71

86.5

10

M4 tap 0.7
(Standard connection 
torque : 15-20 kgf.cm)

A

[with terminal bus bar]

[Connection conductor] [Terminal part]

t4

23(Max.)

9
(M

a
x.

)

24 8
.5

9
.5

9
.5

24

[Drilling holes for mounting]

1
4

4

35

M4×0.7 tapped hole
(Standard connection 
torque : 15-20 kgf.cm)

2
7

.5

3P 3P

[Panel cut-out]

7
5

.5

30

※ •



/

5
9

5.2

6
.2

1
0

.2

5.2

6
.2 1
0

.2

35

3
8

UMB30Ra:45/UMB30Rb:63

UMB30Ra:42/UMB30Rb:60

UMB30Ra:56.5/UMB30Rb:76

IEC35mm DIN-rail

33

20

3
6

5
6

7
0

UMB30Ra:7.5

UMB30Rb:25.5
Load side

Line side

[Drilling holes for mounting] [Panel cut-out]

[Terminal part]

•

•

※ •



×

•

•

※ •



/

•

•

※ •



•

•

•

•

•

•

D
e

ra
ti

n
g

 r
a

te
 f

o
r 

ra
te

d
 c

u
rr

e
n

t 
(%

)

300
250
200

160

120
100

80

60

40

Ambient temperature (°C)

0 10 20 30 40 50

D
e

ra
ti

n
g

 r
a

te
 f

o
r 

ra
te

d
 c

u
rr

e
n

t 
(%

)

Ambient temperature (°C)

300
250
200

160

120
100

80

60

40

0 10 20 30 40 50

Max.

40-100A180
150
120

240

100
80
60
40

10

20

2

4
6
8

1

40

10

20

8
6
4

2

1

0.2

0.4

0.8
0.6

0.1

0.02

0.04
0.06
0.08

0.01
1 1.5 2 3 4 5 6 7 8 9 10 15 20 30 40 50 60 80 100

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te

Multiple for rated current (times)

Current

Min. Instantaneous trip

(800-1200%)

Max. total
breaking time

Min.

Max.

3-30A180
150
120

240

100
80
60
40

10

20

2

4
6
8

1

40

10

20

8
6
4

2

1

0.2

0.4

0.8
0.6

0.1

0.02

0.04
0.06
0.08

0.01
1 1.5 2 3 4 5 6 7 8 9 10 15 20 30 40 50 60 80 100

T
ri

p
p

in
g

 t
im

e

S
e

co
n

d
M

in
u

te

Instantaneous trip

(800-1200%)

Max. total
breaking time

Multiple for rated current (times)

Current

3

Auxiliary
switch

Trip alarm
switch

Shunt
trip

No.
of
poles

※



/

19. 1

2
5

95
0

8
0

9
6

6
4

25

1 3

50

19. 113 19. 1

19. 1

5
0

2
5

9 6
4

8
0

9
6

50

75

50

53

60

65

80

3
5

9
7

.5

4.5

IEC 35mm
DIN-rail

17

8
8

2
5

95
0

50

75

6
4

8
0

50

53

60

65

80

4.5

9
7

.5

3
5

IEC 35mm
DIN-rail

74

R2

5
2

25

2P

2P 3P 2P 3P

Mounting hole

Line side 32
Load side 30

Line side 32
Load side 30

M8×14
(Standard connection 
torque : 100-120 kgf.cm)

Trip buttonTrip button

3P

[Terminal part]
M5×12
(Standard connection 
torque : 20-30 kgf.cm)

[Drilling holes for mounting]

49

R2

5
2

74

R2

M4 or   5
(Standard connection 
torque : 15-20 kgf.cm)

[Panel cut-out]

5
2

8
0

-8
4

8
0

-8
4

25
M4 or   5
(Standard connection 
torque : 15-20 kgf.cm)

Mounting hole

Trip button

[Terminal part]

17

8
8

[Drilling holes for mounting]

M4 or   5
(Standard connection 
torque : 15-20 kgf.cm)

8
0

-8
4

[Panel cut-out]

※ •



•

•

•

•

※ •

5
9

5.2

6
.2

1
0

.2

5.2

6
.2 1
0

.2

35

3
8

IEC35mm DIN-rail

33

20

3
6

5
6

7
0

UMG30Ca,Ra:7.5

UMG30Cb,Rb:25.5
Load side

Line side

[Drilling holes for mounting] [Panel cut-out]

[Terminal part]

Earth leakage
test button

UMG30Ca,Ra:45

UMG30Cb,Rb:63

UMG30Ra,Rb:56.5

UMG30Cb,Rb:76

UMG30Ca,Ra:42

UMG30Cb,Rb:60

M4 or   5
(Standard connection 
torque : 15-20 kgf.cm)



/

•

•

※ •



•

•

•

•

※ •



/

•

•

•

•

•

•

300
250
200

160

120
100

80

60

40

0 10 20 30 40 50

Ambient temperature (°C)

D
er

at
in

g 
ra

te
 fo

r 
ra

te
d 

cu
rr

en
t 

(%
)

300
250
200

160

120
100

80

60

40

0 10 20 30 40 50

Ambient temperature (°C)

D
er

at
in

g 
ra

te
 fo

r 
ra

te
d 

cu
rr

en
t 

(%
)

40-100A180
150
120

240

100
80
60
40

10

20

2

4
6
8

1

40

10

20

8
6
4

2

1

0.2

0.4

0.8
0.6

0.1

0.02

0.04
0.06
0.08

0.01
1 1.5 2 3 4 5 6 7 8 9 10 15 20 30 40 50 60 80 100

T
ri

p
p

in
g

 t
im

e

M
in

u
te

S
e

co
n

d

Multiple for rated current (times)

Current

Max. total
breaking time

Instantaneous trip 
(800-1200%)

Min. 

Max. 

 

3-30A180
150
120

240

100
80
60
40

10

20

2

4
6
8

1

40

10

20

8
6
4

2

1

0.2

0.4

0.8
0.6

0.1

0.02

0.04
0.06
0.08

0.01
1 1.5 2 3 4 5 6 7 8 9 10 15 20 30 40 50 60 80 100

T
ri

p
p

in
g

 t
im

e

M
in

u
te

S
e

co
n

d Min. 

Max. 

Instantaneous trip 
(800-1200%)

Max. total
breaking time

Multiple for rated current (times)

Current

Auxiliary
switch

Trip alarm
switch

3

No.
of
poles

※



2
5

95
0

8
0

9
6 5
0

6
4 3
5

9
7

.5

8
0

9
6

9
2

5

6
4

25

13

50
50

4.5

50

53

60

65

80

75

19.1

IEC 35mm
DIN-rail

17

8
8

M5×12
(Standard connection 

torque : 20-30 kgf.cm)

5
2

8
0

-8
4

8
0

-8
4

5
2

74
49

R2R2

25

13 19.1

Trip button

Earth leakage
test button

Earth leakage
test button

Earth leakage
indicator

Earth leakage
indicator

2P 3P

2P 3P 2P 3P

Mounting hole

[Terminal part]

[Drilling holes for mounting] [Panel cut-out]

Trip button

M4 or   5
(Standard connection 

torque : 15-20 kgf.cm)

M4 or   5
(Standard connection 

torque : 15-20 kgf.cm)

Line side 32
Load side 30

IEC 35mm
DIN-rail

2
5

95
0

5
2

8
0

9
6

9
7

.5

3
5

6
4

4.5

50

53

60

65

80

74 25

R2

19.1

75

50

17

8
0

-8
4

19.1

Trip button

Earth leakage
test button

Earth leakage
indicator

Mounting hole

[Drilling holes for mounting] [Panel cut-out]

[Terminal part] M8×14
(Standard connection 
torque : 100-120 kgf.cm)

Line side 32
Load side 30

M4 or   5
(Standard connection 

torque : 15-20 kgf.cm)

8
8

※ •





+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +



/

※

•
•
•
•

•
•
•
•
•

•
•

•
•
•
•

•

< >





/

•



※



/

※

※



UVT controller

MCCB

ON

OFF

Fixing hole

(R/H M4 X L11 + P/W + S/W)

Mounting hole(    4.5)

(R/H M4 X L9 + P/W + S/W)

Terminal screw M3.5

Supportor

U2

U1

UC2 (-)

UC1 (+)

16

16.5

22

4

1
6

5
6

4
5

6
3

1
6

1
5

1
5

1
8

8

8
8

1
0

0

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

*

※

*

※ ㎟× ㎜

•

※



/

•



 

•

※

※

•

-  

-  

-  

-  

• 

• 

Power (Line side)

MCCB

P
o

w
e

r (L
in

e
 s

id
e

)

MCCB

P
o

w
e

r 
(L

in
e

 s
id

e
)

MCCB



/

• 

     - 

• 

     - 

     - 

     - 

     -  

     -  

• 

     - 

     - 

     -  

•

     -    

     - 

•

※

※



A

Line side

L
in

e
 s

id
e

L
in

e
 s

id
e

Panel door

Panel door

8

A

5
9

59
5

9

59

37

4-
  4

A

A

B C

8 B

A

C

8 B C

37
4-

  4

5
9

59

37

4-
  4

Handle center line

MCCB center line 

Handle center line

MCCB center line 

Handle center line MCCB center line 

Panel door

• 



/

5A

88

100

4-  8

8
8

1
0

0

5
5

5
5 5
0

6
0

25

4-M4 bolt hole

Panel door

Handle center line

MCCB center line 

B

1.2-3.2

A
A

BHandle center line MCCB center line MCCB center line Handle center line

4-  8

8
8

1
0

0

88

100

50

55

60

55

2
5

1.2-3.2

Panel door

• 

※



 

100

A

1
0

0

A

A

B

B

5-10 B

10
5

10
5

1
0

0

10
5

4-
   

5

100

H
a

n
d

le
 c

e
n

te
r 

li
n

e
M

C
C

B
 c

e
n

te
r 

li
n

e
 

Line side

1
0

0

Panel door

55

Panel door55

5-10

1
0

0

L
in

e
 s

id
e

L
in

e
 s

id
e

15

Handle center line

MCCB center line 

1
0

0

4-
   

5

MCCB center line 

Handle center line

4-
   

5

100

15

1
0

0

5-10

55 Panel door

• 

※



/

Panel door

247 38 B C

A

227

151559

5
9

37
4-

   
4

5

• 



• 

Panel door55

1
2

5

5-10 250

A

A

1
0

0

100

10
5

4-
5

• 

1.2-3.2

B

C

D

1950

80

8
0

A

77

7
7

R10

4-M4 bolt hole

Panel door

Handle center line

Handle center line MCCB center line

3
0

B

A

C

D

1.2-3.2

1950

80

8
0

7
7

77R10

4-M4 bolt hole

Panel door

Handle center line

MCCB center line

※



///

• 

Panel door
Max. 140 - Min. 136

100

1
0

0

8
8

88

Handle center line

MCCB center line

1
4

.5

1
4

.5

1.2-3.2

8
7

.5
5

8
.5

4-M4 bolt hole

35

5.5

Line 

D

CB

A

4-   8

Panel door Max. 140 - Min. 136

Handle center line Handle center lineMCCB center line MCCB center line

100

1
0

0

8
8

88

A

14.5

3
5

7373

87.558.5

1.2-3.2

L
in

e  

CB5.5

D

4-   8

※





/

A

D

B

Motor
operator

Handle

Motor
operator

MCCB C

MCCB MCCB

Motor
operator

Motor
operator

3
7

6

1
4

7

210 122

97

150

142

3
2

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤

≤
≤
≤

≤
≤
≤



1

2

3

4

5

ON

OFF

P1 P2 S1 S2 S4

Power

S3

S1 S2

K4

K1

K2

K3

K4

K5

POWER

M : Motor

: ON relay 

: OFF relay 

Ue ON OFF

Control power

K4

K4

K1

K5

K5

K3

K1

K3

K3

K2

K5

K2

ON circuit

OFF circuit

Motor control relay
S1 : ON limit switch
S2 : OFF limit switch

S3 : Auto/Manual

※

■ 

■ 



/

A

C

D

B



※



/

•



※

Connection block at MCCB side

Connection block (CBM, TYA) at mounting base side

Mounting base (TDM, TDF)

Circuit conductor

Conductor

Mounting angleLead cable for signal accessories

• 

※
 



/

• 

• 

[ Mounting base ] [ Connection conductor ] [ Panel cut-out ]

RH M6 screw+S/W+P/W9

9
2

25

25
25

75

81

7.5

7

79

25

13.5

3 22

21.5

22

50 21

2
0

8
.5

3
6 4
1

 

1
3

0

7
6

.5

7
6

.5

7
6

.5
7

6
.8

5
9

12
.5

1
5

3
(M

a
x:

1
8

)

7
8

.3

4
0

.8

1
5

3
.3

RH M6 screw+S/W+P/W

SEC A-A

A A

5-M4 tapped hole

RH M6 screw+S/W+P/W

RH M6 screw+S/W+P/W

9

A A

2

3

89

7.5

7

30 30

92

30

27 27

21.5

30

13.5

9

21.8 21

2
0

7
5 7
5

1
5

3
(M

a
x:

1
8

)

8
6

.3

3
9

.3

12
.5

5
8

.5

7
5

9
7

.3

1
7

2
.3

8
.5

3
6 4

1

1
5

5

SEC A-A

5-M4 tapped hole

[ Mounting base ] [ Connection conductor ] [ Panel cut-out ]



Branching conductor

Connection plate Arc protection barrier

M5×L12

M5×L12

M5×L12

M5×L12

M4×L8

M4×L8

M4×L8

M4×L8

M4×L8

M4×L8

M4×L8

M4×L8

2RT-PH

2RT-PH A

22S-PH

22S-PH10

22S-PH A

22S-PH10 A

1R-PH

1R-PH10

1R-PH A

1R-PH10 A

1T-PH

1T-PH10

1S-PH

1S-PH10

ARC-PL

ARC-PL A

CONN-PL

CONN-PL A

※

• 



/

M5 tapped hole 
for branching conductor 
(22S-PH10 A)

Line

Line

Line

Line

M5 tapped hole 
for branching conductor 
(2RT-PH A)

Load side terminal

M5 tapped hole 
for branching conductor 
(2RT-PH A)

RH screw

M4×L18+S/W+P/W

RH screw

M4×L25+S/W+P/W

M4 nut+S/W+P/W

Connection plate 
(CONN-PL A)

5 mounting hole

Mounting angle

Arc protection barrier
(BRAN-BARR A)

Connection plate
(ARC-PL A)

[ Drilling holes for mounting ]

6
3

6
3

5
0

5
0

2
8

2
8

8
7

3
7

8
7

2
3

5

4
3

.3
4

3
.7

1
8

.5

2
3

5

3
6

0 1
7

9
.5

25

50

80

1
2

.5
1

2
.5

22 80 21

25

15

6

6

25

4-   4.5 hole

• 

M5 tapped hole for 
branching conductor
(1S-PH, 1S-PH10) 

Line

Line

Line

M5 tapped hole 
for branching conductor 
(1R-PH A, 1R-PH10 A)

RH screw

M4×L30+S/W

M4 nut+S/W+P/W

Mounting angle

4-   4.5 hole

4.5 mounting hole

[ Drilling holes for mounting ]
M5 tapped hole 
for branching conductor 
(1T-PH, 1T-PH10)

RH M4×L10+S/W+P/W

Insulation plate 1.6t
(not supplied)50

80

9

7

8
0

.8

2
7

.3

8
0

.8

4
6

.5
4

6
.5

4
3

.7
4

3
.3

8
7

3
3

1
1

5
.3

1
6

2

18
.5

18
.5

5
0

1
6

2

1
8

0

9

7

50

12

22 80

15

25

25

21

24.2

• 



M5 tapped hole for 
branching conductor 
(22S-PH10)

Line

Line

Line

6
5

.5
6

5
.5

2
4

8
.5

1
9

3
.5

3
8

5

M5 tapped hole for 
branching conductor
(2RT-PH)

Load side terminal

M5 tapped hole for 
branching conductor 
(2RT-PH)

Connection plate
(CONN-PL)

M4 tapped hole for 
branching conductor

RH screw

M5×L20+S/W+P/W

RH screw

M4×L25+S/W+P/W

M5 nut+S/W+P/W

Connection plate 

(ARC-PL)

Mounting angle

Line

Arc protection barrier
(BRAN-BARR)

Mounting angle

4-   5.5 hole

[ Drilling holes for mounting ]30

60

94
24.5 81 20 30

2

6

2

26

15

8
.5

8
.5

5
0

5
0

4
0

27
.5

2
7

.5
2

7
.5

2
4

8
.5

4
9

.3
4

9
.7

9
9

2
7

.5
1

8
.5

1
8

.5

5.8 mounting hole

• 

M5 tapped hole for 
branching conductor 
(1T-PH, 1T-PH10)

M5 tapped hole for 
branching conductor 
(1T-PH, 1T-PH10)

Line

Line

Line

M5 tapped hole for 
branching conductor 
(1R-PH, 1R-PH10)

8
.5

1
0

9
5

.3

1
9

1

5
0

18
.5

18
.5

4
9

.7

9
9

1
9

1
3

3

4
9

.3

8
6

.8
8

5
.7

1
7

2
.5

4
6

4
6

10

94

5.8 mounting hole

M4 tapped hole

RH screw

M5×L32+S/W+P/W

M5 nut+S/W+P/W

50

12

16

1.5

Insulation plate 1.6t 
(not supplied)

4-  5.5 hole

24.5 81

26

27

20

30Mounting angle

[ Drilling holes for mounting ]

• 



/

•



∮

∮

∮

∮

∮

∮

∮

∮



/

㎟ ㎜ ( ㎝)

L

S



※

※



/

※



• 





+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +



/

 ①  

+ -

  

②  

• 

+-

+-

+-

+-

※

+ -

 ① 

 ② 

 ④ 

• 

※



+ -

+ -

※
❹

※
❹

• 

+ -

+ -

①

②

③

④

⑥

⑦

⑧

⑫

+-
+-

+-

+-

+-

• 

①

②

③

④

⑥

⑦

⑧

⑫

+-
+-

+-

+-

+-



/

In

0.63Io

Ir

Isd

Ii

Ig

In

Io

Ir

Isd

Ii

Ig

0.8 1.0

400A

0.8 0.85 0.9 0.95 1.0

LTD = 400×0.9×1.0 = 360A

2 4 6 8 10

STD = 6×Ir = 2160A

3 6 8 10 11

INST = 8×In = 3200A

0.2 0.3 0.4

GFT = 0.3×In = 120A

630A

0.63 0.8 1.0

0.8 0.85 0.9

2 4 6

0.95 1.0

LTD = 630×0.9×1.0 = 570A

8

3 6 8 10

10

STD = 6×Ir = 3420A

11

INST = 8×In = 5040A

0.2 0.3 0.4

GFT = 0.3×In = 190A

In

0.63Io

Ir

Isd

Ii

Ig

0.8 1.0

1000A

0.8 0.85 0.9 0.95 1.0

LTD = 1000×0.9×1.0 = 900A

2 4 6 8 10

STD = 6×Ir = 5400A

3 6 8 10 11

INST = 8×In = 8000A

0.2 0.3 0.4

GFT = 0.3×In = 300A

In

Io

Ir

Isd

Ii

Ig

0.63 0.8 1.0

1250A

0.8 0.85 0.9 0.95 1.0

LTD = 1200×0.9×1.0 = 1125A

2 4 6 8 10

STD = 6×Ir = 6750A

3 6 8 10 11

INST = 8×In = 10000A

0.2 0.3 0.4

GFT = 0.3×In = 375A

• 

>

>

>



≤ ≤ ≤ ≤

≤ ≤ ≤ ≤ ≤

≤ ≤ ≤ ≤ ≤ ≤

※

 • 

• 



/

• 

• 



≧Σ Σ

≧ Σ Σ

≧ Σ Σ<Σ >Σ

≧Σ Σ

Σ ≦Σ
≦ Σ Σ

≦

>



//

■ 

■ 

※

※



Insulation plate

Direct cable 

connection

Bus bar 

connection

Rear or plug-in 

connection

Upper plate of panel

Side plate of panel

Taping

B1

B2

B1

B2

A

A
D

C

A

B1

B2



/





/





/





+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +

+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +



◆ 

SUPB250X

※ 

※

3P T4

※

※

※

℃

℃

※

[ ]

[ ]

00

※

00 C 00250



/

◆ 

※

※ 

℃

℃

※

[ ]

[ ]

※

※

※

※

S 00 00 C F00250UPB250X 3P T4



◆ 

SUPB630X

※ 

※

3P ES

※

※

[ ]

[ ]

※

00

※

00 X 00630

※

※



/

◆ 

SUPB250L

※

3P MP

※

[ ]

[ ]

※

00

※

00 C 00250

※



◆ 

HBL203UMQ

※

※ [ ]

3P T4

※

※

00

※

00 C 00225

※

S



/

◆ 

S

※

3P DS

※

[ ]

[ ]

00

※

00 C 00630

※

UPD630S



◆ 

S

※

2P T4 00 00 C 00015

※

UMB30Hg

※

※

◆ 

S

※

2P G4 00 00 C 00015

※

UMG30Hg

※

※

※



/

◆ 

※

※

[ ]

[ ]

※

※

※

S 00 00 C B00015UCB100L 3P T4



+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + +



/

℃ ℃, ℃

• 
• 
• 
• 
• ℃ ℃ 
• 

• 

• •

• •

•

• 



←

• • •

• • •

• • •



/

Ω

＜ ≦

≦

＜ ≦

≦

◯

◯

×

×

◯

◯

◯

×

◯

◯

◯

×

×

◯

◯

◯

×

◯

• 

• 

• 

• 

Ω

• 



• 

• 

• 

Ω

• 



/

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

•

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

•

•

•

•

•

•

• 

•

•

•

• 

•

•

•

•

•

•

• 

• 

• 

• 

• 

• 

• 

•

•

• 

• 

• 

• 

• 

• 

• 
• 



• 

• 
• 

•

• 

• 

• 

• 

• 

•

•

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

•

• 

• 

• 




